KTS Lecture Notes ITEX Primer with TNXTEX December 6, 2010

LECTURE 14. St} 10| K]

_ 141 PORg AU oA B
A2 A

9| Brto] 2.2 A% (primitive) ¢l \hsizeo] 0|8} ZFH}. o] 3 WA ES &
SO el ATt M goteiR FL LR RUHES B2 F ol SRS 3o WYILS WA BY LS FUl AL
O}x] 9} Btio] o] 2Pt BAIS R 212 UK WAL B FBE ool \par §HL 2ol FEL

The horizontal size is the width of each
normal line in the output when a paragraph
is being typeset. The horizontal size is the width of each normal line in
the output when a paragraph is being typeset.

{\setlength{\hsize}{5.5cm}

\setlength{\parindent}{1.5em}
\textbackslash hsize is a primitive of \TeX{}
that specifies the horizontal size.\par} It's best not to monkey with \hsize except at the very
beginning of a job.

\hsize is a primitive of TgX that spec-
ifies the horizontal size.

It's best not to monkey with \textbackslash
hsize except at the very beginning of a job.

S0o] £t &1f @ F o] 247F YA H 3 \leftskipd} \rightskip O & A}t ZulS F9 & oI} o] 5
AAZFSL B30 E S \hsizeo||A] \hsize — \leftskip — \rightskip O & H} T} Ut MAYZFS S8
59 gdo e a9R Lok aubE 9 4 9ck
{\setlength{\leftskip}{3em}

\setlength{\rightskip}{3em} Two parameters Two parameters specify glue to be inserted
specify glue to be inserted at the left and at the left and right of every line in a para-

right of every line in a paragraph. graph.

Two parameters specify glue to be inserted at the leftand

\setlength{\rightskip}{-3em} Two parameters
right of every line in a paragraph.

specify glue to be inserted at the left and
right of every line in a paragraph.\par}
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’ \begin{adjustwidth}{(left)}{(right)} text \end{adjustwidth} ‘

\begin{adjustwidth}{3em}{3em}

Two parameters specify glue to be inserted at . .
the left and right of every line in a paragraph. Two par?meter§ speCIffy glue t_o bf_) inserted
\end{adjustwidth} at the left and right of every line in a para-
graph.
\begin{adjustwidth}{3en}{-3en} Two parameters specify glue to be inserted at the left and
Two parameters specify glue to be inserted at right of every line in a paragraph.
the left and right of every line in a paragraph.
\end{adjustwidth}
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\hangpara{3em}{2}A hanging paragraph

is one where the length of the first few lines
differs from the length of the remaining lines.
A normal indented paragraph may be considered
to be a special case of a hanging paragraph.

A hanging paragraph is one where the length of the first

few lines differs from the length of the remaining lines.
A normal indented paragraph may be considered
to be a special case of a hanging paragraph.
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\hangpara{3em}{-2}A hanging paragraph

is one where the length of the first few lines A hanging paragraph is one where the length of
differs from the length of the remaining lines. the first few lines differs from the length of the
A normal indented paragraph may be considered remaining lines. A normal indented paragraph may be
to be a special case of a hanging paragraph. considered to be a special case of a hanging paragraph.

A hanging paragraph is one where the length of

the first few lines differs from the length of the
remaining lines. A normal indented paragraph may be
considered to be a special case of a hanging paragraph.

\hangpara{-3em}{-2}A hanging paragraph

is one where the length of the first few lines
differs from the length of the remaining lines.
A normal indented paragraph may be considered
to be a special case of a hanging paragraph.
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’ \begin{hangparas}{(hangindent) } { (hangafter)} text \end{hangparas} ‘
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\hangfrom{\bfseries 1234)\enspace}A hanging
paragraph is one where the length of the
first few lines differs from the length of
the remaining lines.

1234) A hanging paragraph is one where the length of
the first few lines differs from the length of the re-
maining lines.
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\setlength{\hsize}{6cm} \setlength{\ragrparindent}{iem}

{\raggedright When using \raggedright in narrow
When using \textbackslash raggedright in narrow columns the right hand edge tends to be
columns the right hand edge tends to be too too ragged, and paragraphs are not
ragged, and paragraphs are not indented.\par} indented.

When using \raggedright in narrow
columns the right hand edge tends to be
too ragged, and paragraphs are not
indented.

{\raggedright\setlength{\parindent}{iem}

When using \textbackslash raggedright in narrow
columns the right hand edge tends to be too
ragged, and paragraphs are not indented.\par}
When using \raggedright in narrow

{\raggedyright columns the right hand edge tends to
When using \tethaCkSlaSh raggedright in narrow be too ragged/ and paragraphs are not
columns the right hand edge tends to be too indented.

ragged, and paragraphs are not indented.\par
£8 paragrap par) When using \raggedright in narrow

columns the right hand edge tends to be too

dyright|1
{\raggedyrignt[len] ragged, and paragraphs are not indented.

When using \textbackslash raggedright in narrow
columns the right hand edge tends to be too
ragged, and paragraphs are not indented.\par}
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’ \leftspringright{(lfrac)}{(rfrac)}{(ltext) } { (rtext)} ‘

o) 2 rfrac) £ 0341 Apole] SRE 7 £l 242 A ol Tl A% Eekel % 2
927 Brio] Zo] ujgo|c. thebA] £ ALY ol 12 WAl ES AEshe Zo] S0t £3t 9% Brie)
5 S 0.8% BT 3 22 EUH Yol A% ool WAL,

2
ajo
4n
l-'O
>

\leftspringright{o.3}{0.6}{Text at the left

is set flushleft and raggedright.} Text at the left is But the text at the right is set
{But the text at the right is set raggedleft set flushleft and raggedleft and flushright. It's as
and flushright. It's as though there was a raggedright. though there wasaspring
spring pushing the lines apart.} pushing the lines apart.
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\setlength{\hsize}{6cm}
The last line of this paragraph will be no
shorter than a particular length. abcdef

\linenottooshort
The last line of this paragraph will be no
shorter than a particular length. abcde f

The last line of this paragraph will be no
shorter than a particular length. abcd e
f

The last line of this paragraph will be no
shorter than a particular length.abcdef
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Some quotations are completed by giving
the source or author.\sourceatright{¥
$\spadesuit\heartsuit\diamondsuit\clubsuit$}

Some quotations are completed by giving the source or

author. MO R
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The last line of this paragraph will be
set by ending it with a rule to fill up

any space.\lastlinerulefill

\renewcommand{\lastlineparrule}
{\hbox{$\diamond$}}
The last line of this paragraph will be

The last line of this paragraph will be set by ending it
with a rule to fill up any space.

The last line of this paragraph will be set by ending it
with a rule to fill up any space. ©00000CCCCCCOCOOOOOO

set by ending it with a rule to fill up
any space.\lastlinerulefill
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